# ON COMMUTATIVITY OF ASSOCIATIVE RINGS 

Mohd. Ashraf and Murtaza A. Quadri

In this paper we prove that if $R$ is a ring with unity satisfying $\left[x y-x^{n} y^{m}, x\right]=0$, for
all $x, y \in R$ and fixed integers $m>1, n \geqslant 1$, then $R$ is commutative.

## 1. Introduction

The famous Jacobson theorem [4] that any ring in which for each ring element $x$ there exists a positive integer $n=n(x)>1$ such that $x^{n}=x$ is commutative, can be easity generalised as follows: if for each pair of elements in a ring $R$ there exists a positive integer $n=n(x, y)>1$ such that $(x y)^{n}=x y$, then $R$ is commutative [10]. Thus this class of rings includes the rings which satisfy the following identity:
$\left(^{*}\right)$ For all $x, y$ in $R$ there is fixed integer $n>1$ such that $x^{n} y^{n}=x y$.
The object of this note is to investigate the commutativity of the rings satisfying condition ( ${ }^{*}$ ) which is certainly weaker than the condition $(x y)^{n}=x y$. In fact we prove rather a more general result:

Theorem. Let $R$ be an associative ring with unity in which $\left[x y-x^{n} y^{m}, x\right]=0$ for all $x, y \in R$ and fixed integers $m>1, n \geqslant 1$. Then $R$ is commutative.

Remark 1. The above theorem is also a generalisation of a theorem of Bell [2, Theorem 5 ], for rings with unity if $n$ is assumed to be fixed.

Remark 2. It is trivial to see that not both $m$ and $n$ can be equal to 1 in the hypothesis of our theorem.

Remark 3. The ring of $3 \times 3$ strictly upper triangular matrices over a ring provides an example showing that the existence of unity in the hypothesis of our theorem is essential.

In the remainder of the paper let us denote the centre of the ring $R$ by $Z(R)$, the commutator ideal by $C(R)$, the set of nilpotent elements by $N(R)$ and the set of all zero divisors in $R$ by $N^{\prime}(R)$. For any $a, b \in R,[a, b]=a b-b a$, the well known Lie product.

[^0]2.

The following results are pertinent in developing the proof of the above theorem. The proof of Lemma 1 can be found in [ 5, p. 221]. Although Lemma 2 has been proved in [6], we supply here an independent and more elementary proof.

Lemma 1. If $x, y \in R$ and $[x, y]$ commutes with $x$, then $\left[x^{n}, y\right]=n x^{n-1}[x, y]$ for all positive integers $n$.

Lemma 2. Suppose $a$ and $b$ are elements of $R$ with unity 1 , satisfying $a^{m} b=0$ and $(1+a)^{m} b=0$ for some positive integer $m$. Then $b=0$.

Proof: We have $b=\{(1+a)-a\}^{2 m+1} b$. On expanding the right hand side expression by the Binomial Theorem and using the fact that $a^{m} b=0$ and $(1+a)^{m} b=$ 0 , we see that $b=0$.

Proof of Theorem: Since $R$ is isomorphic to a subdirect sum of subdirectly irreducible rings $R_{\alpha}$ each of which as a homomorphic image of $R$ satisfies the property placed on $R, R$ itself can be assumed to be subdirectly irreducible. So $S$, the intersection of all non zero ideals, is non-zero. Now $R$ satisfies $\left[x y-x^{n} y^{m}, x\right]=0$ for all $x, y \in R$, which is a polynomial identity with relatively prime integral coefficients. But if we consider $x=e_{12}, y=e_{21}$, we find that no ring of $2 \times 2$ matrices over $G F(p), p$ a prime, satisfies the identity. Hence by [1, Theorem 1] the commutator ideal $C(R)$ of $R$ is nil.

Using the hypothesis of our theorem, we get

$$
\begin{equation*}
x[x, y]=x^{n}\left[x, y^{m}\right] \text { for all } x, y \in R \tag{1}
\end{equation*}
$$

By repeated use of (1), we see that for any positive integer $p$,

$$
\begin{aligned}
x^{p}[x, y] & =x^{p-1} x^{n}\left[x, y^{m}\right] \\
& =x^{2 n} x^{p-2}\left[x,\left(y^{m}\right)^{m}\right] \\
& =-\cdots-\cdots--
\end{aligned}
$$

and finally,

$$
\begin{equation*}
x^{p}[x, y]=x^{p n}\left[x, y^{m^{p}}\right] \tag{2}
\end{equation*}
$$

Now if $u$ is a nilpotent element of $R$, then $u^{m^{p}}=0$ for sufficiently large $p$. Using (2), we have $x^{p}[x, u]=0$. Replace $x$ by $(1+x)$, to get $(1+x)^{p}[x, u]=0$. Then by Lemma 2, we get $[x, u]=0$ for all $x \in R$ and hence

$$
\begin{equation*}
C(R) \subseteq N(R) \subseteq Z(R) \tag{3}
\end{equation*}
$$

Now if $n=1$, then replacing $x$ by $(1+x)$ in (1) we get $[x, y]=\left[x, y^{m}\right]$ that is $\left[x, y-y^{m}\right]=0$ for all $x, y \in R$. Hence $R$ is commutative by a theorem of Herstein [3]. So we assume henceforth that $n>1$, and we choose the positive integer $q=2^{n+1}-2^{2}$. Then by using (1), we have

$$
\begin{aligned}
q x[x, y] & =2^{n+1} x[x, y]-2^{2} x[x, y] \\
& =(2 x)^{n}\left[2 x, y^{m}\right]-2 x[2 x, y] \\
& =0
\end{aligned}
$$

that is, $q x[x, y]=0$. With $1+x$ in place of $x$, this yields $q(1+x)[x, y]=0$. On combining we get $q[x, y]=0$. But since commutators are central, by employing Lemma 1 , we have $\left[x^{q}, y\right]=q x^{q-1}[x, y]=0$, which yields

$$
\begin{equation*}
x^{q} \in Z(R) \tag{4}
\end{equation*}
$$

Replacing $y$ by $y^{m}$ in (1), we get

$$
\begin{equation*}
x\left[x, y^{m}\right]-x^{n}\left[x,\left(y^{m}\right)^{m}\right]=0 \tag{5}
\end{equation*}
$$

Since commutators are central,

$$
\begin{aligned}
x\left[x, y^{m}\right] & =\left[x, y^{m}\right] x \\
& =m y^{m-1}[x, y] x, \text { by }(3) \text { and Lemma } 1 \\
& =m y^{m-1} x[x, y], \text { by }(3)
\end{aligned}
$$

Again using (1) and (3) respectively, the above yields

$$
x\left[x, y^{m}\right]=m y^{m-1}\left[x, y^{m}\right] x^{n}
$$

Using similar techniques, we get

$$
\begin{aligned}
x^{n}\left[x,\left(y^{m}\right)^{m}\right] & =\left[x,\left(y^{m}\right)^{m}\right] x^{n} \\
& =m\left(y^{m}\right)^{m-1}\left[x, y^{m}\right] x^{n} \\
& =m y^{m-1} y^{(m-1)^{2}}\left[x, y^{m}\right] x^{n}
\end{aligned}
$$

Thus (5) gives $m y^{m-1}\left(1-y^{(m-1)^{2}}\right)\left[x, y^{m}\right] x^{n}=0$. Again the usual argument of replacing $x$ by $(1+x)$, etcetera in the last identity shows that $m y^{m-1}\left(1-y^{(m-1)^{2}}\right)$ $\left[x, y^{m}\right]=0$ and therefore finally we obtain,

$$
\begin{equation*}
m y^{m-1}\left(1-y^{q(m-1)^{2}}\right)\left[x, y^{m}\right]=0 \tag{6}
\end{equation*}
$$

Next we claim that $N^{\prime}(R) \subseteq Z(R)$. Let $a \in N^{\prime}(R)$, then by (4) $a^{q(m-1)^{2}} \in$ $N^{\prime}(R) \cap Z(R)$ and $S a^{q(m-1)^{2}}=(0)$. Since by (6), $m a^{m-1}\left(1-a^{q(m-1)^{2}}\right)\left[x, a^{m}\right]=0$, that is, $\left(1-a^{q(m-1)^{2}}\right) m a^{m-1}\left[x, a^{m}\right]=0$. If $m a^{m-1}\left[x, a^{m}\right] \neq 0$ then $\left(1-a^{q(m-1)^{2}}\right)$ $\in N^{\prime}(R)$ and so $S\left(1-a^{q(m-1)^{2}}\right)=0$, which leads to the contradiction that $S=(0)$. Hence $m a^{m-1}\left[x, a^{m}\right]=0$. Using (1) and Lemma 1, we obtain

$$
\begin{aligned}
x^{2}[x, a] & =x x^{n}\left[x, a^{m}\right] \\
& =x^{2 n}\left[x,\left(a^{m}\right)^{m}\right] \\
& =x^{2 n} m a^{m(m-1)}\left[x, a^{m}\right] \\
& =x^{2 n} a^{(m-1)^{2}} m a^{(m-1)}\left[x, a^{m}\right] \\
& =0 .
\end{aligned}
$$

This implies that $x^{2}[x, a]=0$, and so the usual argument of replacing $x$ by $(1+x)$ etcetra shows that $[x, a]=0$ and hence,

$$
\begin{equation*}
N^{\prime}(R) \subseteq Z(R) \tag{7}
\end{equation*}
$$

Now for any $x \in R, x^{q}$ and $x^{q m}$ are in $Z(R)$ and for any $y \in R,(1)$ yields

$$
\begin{aligned}
\left(x^{q}-x^{q m}\right) x[x, y] & =x^{q} x[x, y]-x^{q m} x^{n}\left[x, y^{m}\right] \\
& =x\left[x, x^{q} y\right]-x^{n}\left[x,\left(x^{q} y\right)^{m}\right] \\
& =0 .
\end{aligned}
$$

Hence we have $\left(x-x^{q m-q+1}\right) x^{q}[x, y]=0$. If $R$ is not commutative then by [ 3 , Theorem 18], there exists an $x \in R$ such that $x-x^{k} \notin Z(R)$, where $k=q m-q+1$. Clearly $x \notin Z(R)$, hence neither $x-x^{k}$ nor $x$ is a zero divisor, thus $\left(x-x^{k}\right) x^{q}$ is also not a zero divisor. Now for all $y \in R,\left(x-x^{k}\right) x^{q}[x, y]=0$, implies $[x, y]=0$, which is a contradiction. Hence $R$ is commutative.

## References

[1] H.E. Bell, 'On some Commutativity Theorems of Herstein', Arch. Math. 24 (1973), 34-38.
[2] H.E. Bell, 'A Commutativity study for periodic rings', Pacific J. Math. 70 (1977), 29-36.
[3] I.N. Herstein, 'A generalization of a theorem of Jacobson', Amer. J. Math. 73 (1951), 756-762.
[4] N. Jacobson, 'Structure theory of algebraic algebras of bounded degree', Ann. of Math. 46 (1945), 695-707.
[5] N. Jacobson, Structure of rings 37 (Amer. Math. Soc. Colloq. Publ., Providence, 1956).
[6] W.K. Nicholson and Adil Yaqub, 'A commutativity theorem', Algebra Universalis 10 (1980), 260-263.
[7] Evagelos Psomopoulos, 'A Commutativity theorem for rings', Math. Japon. 29 No. 3 (1984), 371-373.
[8] M. A. Quadri and M. Ashraf, 'Commutativity fo generalized Boolean rings', Publ. Math. Debrecen (to appear).
[日] M.A. Quadri and M.A. Khan, 'A Commutativity theorem for left s-unital rings', Bull. Inst. Math. Acad. Sinica 15 (1987), 301-305.
[10] M.O. Searcoid and D. M. Hale, 'Two elementary generalizations of Boolean rings', Amer. Math. Monthly 日3, No 2.(1986), 121-122.

Department of Mathematics
Aligarh Muslim University
Aligarh - 202002
India


[^0]:    Received 30 November 1988
    Copyright Clearance Centre, Inc. Serial-fee code: 0004-9729/88 \$A2.00+0.00.

